
1 34038-00084-00 1

2 20033-00020-00 1

3 34006-00074-00 4

4 30136-00005-00 17 8

5 20134-00158-00 4

6 70002-02472-00 1

7 20033-00031-00 1/4. 2

8 20033-00023-00 1

9 33001-00061-00 1

10 31026-00170-00 1

11 33015-00001-00 1

12 31008-00021-00 1

13 34028-00022-00 1

14 70002-02494-00 1

15 20196-00505-00 1

16 20025-00146-00 2

17 20100-00281-00 1

18 30125-00027-00 M10 8

19 30139-00045-00 10 8

20 30136-00010-00 10 8 1,3 

Explozie piese de schimb SV054-105



21 30136-00190-00 10 8

22 30101-00495-01 M10X40 8

23 70002-02696-00 2

24 33014-00583-00 1

25 30125-00003-00 M8 5

26 30139-00009-00 8 5

27 30136-00098-01 8 8

28 30101-00043-00 M8X20 3

29 20017-00051-00 1

30 33001-00149-00 1

31 30101-00070-00 M6X12 8

32 30125-00008-01 M5 2

33 20014-00221-03 1

34 20014-00234-00 1

35 30125-00002-02 M6 1

36 33014-00581-00 1

37 70002-01308-00 8 1

38 33049-00068-00 1

39 30101-00342-00 M6X16 1

40 70002-02492-00 1

41 20196-00507-00 1

42 30101-00066-00 M5X12 2

43 70001-00630-00 1


